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lezrn Glossory

How can you tell if a An even number can be An odd number cannot be | The ones digit tells you if a

number is even or odd? shown as two equal parts shown as two equal parfs | number is even or odd.
. using cubes. using cubes. o

: 18 is even.
8 is even. i . 19 is odd.

4+4=8

w
5
|.J L1
Do You Understand? *Gu Em&n Look at the number. Circle even or odd
Prac ctice Then write the equation.
Show Me! You break apart =
a tower of cubes to make |
two equal parts, but there is . 8 | 2. 1]
one cube left over. |
Is the number of cubes even | e EEE
or odd? Explain. |
CIOOIOICE
T [
odd i even ; | odd even
_ |
\, |

852 eight hundred fifty-two © Pearson Education, Inc. | Step Up | Lesson |
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Math Practices and Problem) Sol ling* Solve the problems below. Use cubes fo help. \

10. @ MP.4 Model with Math Lily fills

2 baskets with 7 berries each. She gives
both baskets to Ted. Does Ted have an
odd or even number of berries? Draw a
picture to solve. Then write an equation.

+ =

Tedhasan  number of berries.

1. @ MP.4 Model with Math Peter puts

8 marbles in one jar. He puts | marble in
another jar. Does Peter have an odd or
even number of marbles? Draw a picture
to solve. Then write an equation.

- =

Peter has an number of marbles.

854 eight hundred fifty-four

12. Higher Order Thinking If you add fwo

even numbers, will the sum be odd or
even? Explain. Use numbers, pictures,
or words.

-~

L

13. ® Assessment Use the numbers on the

cards below. Write two different addition
equations. The sum in each equation
needs to be an odd number.

1 1171]12]]|8

© Peaarson Educstion, Inc. |
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lears  Glassary

Arrays have equal Arrays have equal
You can model rows. Each row has columns. Each column

repeated addition 3 strawberries. has 2 strawberries. Write two
with an array.

equations that
match the

D_..-QY.

3+3=6

By Columns
2+2+2=6

| | _ L0 |} o "
Do You Understand? A ﬁmu_nmn 5 Write two equations that match
__wnmma_n@ each array.

i e et e

3 Bt
LU

Show Me! Is this group an
array? Explain.

By Rows . By Rows
i o+ 4= -+ — =
By Columns - By Columns
- L o+ 4 = | + =
856 eight hundred fifty-six © Pearson Education, Inc. | Step Up | Lesson 2
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Math Practices and Problem Sol ling" Use an array to solve each problem. \

8. @ MP.7 Look for Patterns Dana places the berries

in an array. Write two equations that match the array.

How many berries are there in all?

X
¢6
&

e
ea®
ee®

berries

9. The array shows cars in a parking lot. Can you write

two different equations that match the array? Explain.

How many cars are in the parking lot in all?

. PRaPRGRGR

. P GRGRGR

____cars
10. Higher Order Thinking Draw a garden I1. ® Assessment Brent sets basketballs
with up to 6 rows that has the same in an array. He has 3 rows of basketballs
number of plants in each row. Then write with 4 basketballs in each row. Which
two equations that match your array. equation shows the array Brent made and
- £ how many basketballs in all?
@ 3+3+3=9
® 3+3=6
© 4+u4=8
. ' © 4+4+4=12
858 eight hundred fifty-eight © Pearsan Educafion, Inc. | Step Up | Lesson 2
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tearn  Glossary

You can add on a hundred chart. You're n__.on&‘ at 64.

Find 54 + 18. Start at 54, . New move ahead 8 to show

You need to add the tens & 8 ones. You need to go to the
from 18. Move down next row fo add them all.

] row to show 1 tfen. : So, 5% + 18 = 72.

r~ ﬁ.... e .l
. ™\ - ey : : -
Do You Understand? ﬁ@m_@m&m Add using the hundred osm_n
Practice Draw arrows on the chart if needed.
Show Me! How can you use =
a hundred chart fo add 35 nfi2fsfae]is[is[17] 18] 19]20
and 247
21 |22 23|24 |25{26 |27 |28 |29 |30
3113233 m.m 35{36|37|38|39|40
41 {u2 | u3 | ub-fus-pue | 47 |us |49 | 50
L IU+32= "Tf 2. 22+ |4 =
D 3. =11+20 4. 16 + 33 =
\

d

860 eight hundred sixty © Pearson Education, Inc. | Step Up | Lesson 3
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Math Practi ﬁmtw and Problem Sol ....m@n Use the hundred chart to solve each problem. \

[3. MP.7 Look for Patterns Jada has
37 buttons. Mary has 58 buttons. How
many buttons do they have in all?

buttons

4. MP.7 Look for Patterns Mait has
40 buttons. Nick has 21 more buttons
than Matt. How many buttons does

Nick have?

: buttons

31132|33|34|35|36|37|38|39|40

H1 |42 |43 fH4 |45 (46|47 148 |49 | 5O

51|52 |53 |54}55]|56|57]|58]|59] 60

61 16263 |64]165]|66|67|68|69]|70

7117273 74|75|76|77|78|79]80
81182|83|84185|86]187|88|8%9|90
91 92|93|94|95]196|97]|98|99|100

I15. Higher Order Thinking 53 plus what
number equals 847 Write the steps you
take on a hundred chart to find out.

16. ® Assessment Which weights will balance
the weights already on the scale?

g g8

® ®

al Be
©

862 eight hundred sixty-two © Pearson Education, Inc. | Step Up | Lesson 3
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learn  Glossory
There are 16 ones. Add the tens.
» Regroup |6 ones as
"1 ten and 6 ones. i 3tens + 1 ten = Y tens
) Y4 tens + 1 ten = 5 tens

Let's add!

Show 37.
Then show 19.

Ml Tens - Ones Qi Tens Ones’

3
|
5

7
9

Write 6 ones.
Write | to show | ten.

B [ .
| | | ) “Guided . Add. Use connecting cubes and your workmat.
You ? uuiae
Do You Understand? _wqm%_n@@ Did you need to regroup? Circle Yes or No.
Show Me! When do you ===
have to regroup when
adding? B rons ones NN Tens ones ININETN Tens ones
2 9 3 7 4 L
+| 2 @ 4| 2 2 + | | 8
3
£
.“M{mwm No Yes No Yes No
\
864 eight hundred sixty-four © Peorson Education. Inc. | Step Up | Lesson 4
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- A

13

o
gm_..s _u ht a_ 1 _ 3 E@ Solve the problems below. \

15. ® MP.5 Use Tools Trent builds a fort with 16. @ MP.5 Use Tools Greg counts
28 blocks. Ryan uses 26 blocks to make it 32 buttons. Then he counts 30 more.
bigger. How many blocks are used in all? How many buttons does Greg count in all?
Tens Ones ._.m:m Ones
3 2
- +1 310
___blocks buttons
17. Higher Order Thinking Write an addition 18. @ Assessment Maria has 33 pennies.
story about the notebooks and pencils in Her mom gives her 19 pennies and
your classroom. Use pictures, numbers, 7 nickels. How many pennies does
or words. Maria have now?
1 J @ ui ® 49
© 51 © 52

L -

866 eight hundred sixty-six © Pearson Education, Inc. | Step Up | Lesson U
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_uaar_m&mcms@o mazamm.oS::oam:mﬁ ogauim:ma;m. ‘ Hg_mg_mng__o. _
hundred chart. number that matches the ones That makes 15.

in 43.

22

m.\®_ﬁv.$._ 22|23

i
37]38]39¢40

mE

28+ 15=43

yz7yuajue

I need to find the

So, 43 — 28 = |5.

: i Count by ones!
difference between ot Y[R e 1 . That's 1 ten, or

get from 28 to 33. . _ 10 more.

DoYou ::amqmﬁm.m,m_w.._

Show Me! How can you use
a hundred chart to find the
difference between 18

and 607

o

868 eight hundred sixty-eight

ﬁ_m_._m.n__m& ., Subtract using the hundred chart.

et T

_wwmna.n@ Draw arrows if you need to.

e~

21 | 22| 2af2uii 26t a6 {26 29| 30

fegs” LS

»
»

31132|33|34|35|36|37|38|39|40

u1 |uz|us|yulus|ue|uz|us|uo 50

51152|53|54|55|56|57t58359|60

6162]|63]164|65]66|67]|68]|69|70

2.41 -21 =

3. . =53 — 32 4. 64 — 23

© Pearson Education, Inc. | Step Up | Lesson 5
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Math Practices and Problem Solving“ Use the chart fo solve each problem below. \

13. Enrico’s puzzle has 75 pieces.
Enrico fits 53 pieces together.
How many more pieces does Enrico still
need to fit fogether to complete the puzzle?

- = 4l jy2 | u3fud|y4si46 |47 |48 |49 | 50

______pieces 51 |52153|54|55|56157|58|592]|60
61 162|63[64|65|66|67|68|69]|70

14. @ MP.2 Reasoning A book has 65 pages.
Gloria needs to read 22 more 71|72 |73 |74|75]76|77|78|79|80
pages to finish the book. gl |82|83|8u|85|86|87|88|89]|90

How many pages has

Gloria read already? 91192|93|94|95]|96]97|98]99]100

I5. Higher Order Thinking Felix wants to 16. @ Assessment Lee has 98 marbles.
subtract 89 — 47. Write the steps Felix 23 of the marbles are blue.
can take to subtract 47 from 89 on the |4 marbles are green.
hundred chart. The rest of the marbles are red.
How many marbles are red?

® 37
= : . ® 6
. . . © 75
- © 84

870 eight hundred seventy © Pearson Education, fnc. | Step Up | Lesson 5
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learn  Elowsory

Regroup | ten as 10 ones.

Subtract the ones. There are 2 tens and

Then subtract the tens. 7 ones left.

There are not Write 2 to show 2 tens.
enough ones to Write 12 to shaw 12 ones.

subtract.

-
Do You Understand? ) ﬁ.ﬂ:ﬁn& ., Subtract. Draw place-value blocks to show
T TR _w_w tice your work. Regroup if you need fo.

Show Me! Why do you

need fo regroup when you I E

subtract 32 — 5?

872 eight hundred seventy-two © Pearson Education, nc. |
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Math Practices, ai a_ _ Lo__S:@ﬂ Solve the problems below. \

e

7. ® MP.2 Reasoning There E 8. ® MP.2 Reasoning There [T

are |4 students playing are |13 books on the shelf.
with blocks. 9 students Amy takes 2 of them. How
go home. How many many books are left on the
students are still playing  _ shelf? -
with blocks?
_ studenis
9. Higher Order Thinking What mistake did 10. ® Assessment Liesel collecied 36 leaves.
Monica make when she subtracted 24 — 47? She put some of them in a book.
Show how to fix her mistake. She had 9 leaves left.
How many leaves did she put in the book?
24 (Tens_ Ones
— 4 @ 27
a © 28
© 45

874 eight hundred seventy-four © Pearson Education, Inc. | Step Up | Lesson 6




J

8'd ‘9°dN ‘S'dN

‘CdW S2319D.4 ipIInUEYio
TYLAN'e

‘LO'AW'EZ SPIDPUD|S JuBju0D @L

%

"SOINUIW §
1sainsu sy} 0} swij |3}

sen :UO H
v

& o

sajnuIpy oAl |

O} awl] |IeL
L 0SS

"

| zepoiordn das
s %)

o

wo)*azjjeayguosiead 1e saxnosay jenbig

S

e A

'uID[dX3 ¢MOjBq Y900 8U} UO B SIUY} MOYS NOA UDD MOH
‘G| :€ ID BALID 0} anp sI aup|diID uy

91BUSY ToA(0S
iy ¥

SWDN ©




O w2

lecia  Glossary

Both clocks show 8:05. To tell time to five minutes, count by 5s.

Both clocks show 8:35.

minute

The minute hand
moves from number to
number in 5 minutes.

I can start at 8:00
and count by Ss to
tell the time.

There are 60 minutes in | hour.

The minutes start over again
each hour.

.

“L
Do You Understand? N *Guide
Show Me! The time is

e — it

ided , Complete the clocks so both
Practice clocks show the same time.
.m = b

9:35. What time will it be
in 5 minutes?

In 15 minutes?

In 25 minutes?

876 cight hundred seventy-six © Pearson Educalion, Inc. |
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Math Practices and Problem Sol

A b b LRI A ==

@ Solve each problem. /

[2. ® MP.8 Generalize What time is ' 13. Number Sense Look at the time on the
|5 minutes past the time on the green first clock.
clock and 15 minutes before the time on What time was it 5 minutes ago?
the orange clock? Write that time on the second clock,

(LN ]
,_ ! L)

1112~

RN
a_. 1 L)

2

3:

l,'

I4. Higher Order Thinking Draw a clock '~ 15. @ Assessment The minute hand is
that shows the time you wake up in the pointing to the 10. Which number will it
morning. Explain how you know you be pointing to 10 minutes later?
showed the correct time. ® 12

® 11
) - - © 10
© 9

878 eight hundred seventy-eight © Pearson Education, Inc. | Step Up | Lesson 7
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leom  Glossary

10 ones make | ten. 10 tens make | hundred. 10 hundreds What is the number?

make | thousand.

900 equals 9 hundreds,
0 tens, and O ones.

You can count
by hundreds to
1,000!

EREENBNE D
AumaEREEE
_ L

Count by
hundreds to find
the totdl.

1I

G
Do You Understand? " *Quided , Complete each sentence.

ti Use models if needed.
Show Me! 10 ones make _w_m. lice

| ten. 10 tens make
| hundred. 10 hundreds . ...
make | thousand. Do you and § ones.
see a pattern? Explain.

7 s
-|_._c:aqmam..|£...;m:m,

2. ... equals hundreds, tens,

and ones.

880 eight hundred eighty © Pearson Educafion, Inc. | Step Up | Lesson 8
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Math Prac .Fpnmm and Pro _x | .—@ Solve each problem. Use models if :mmama./

8. ® MP.5 Use Tools Patti picked a number. 9. 9 Vocabulary Complete the sentences

She says her number has 2 hundreds, using the words below.

0 tens, and 0 ones. hundred tens ones

What is Patti’s number? There are 10 in one hundred.
_— There are 100 in one

Higher Order Thinking Pearl and Charlie are playing beanbag toss. Circle the fwo numbers
they each must get fo score 1,000.

10. Pearl has 200 points. I 1. Charlie has 700 points.
200 500 600 100 100 200 400 700

12. ® Assessment Each box has 100 pencils. @ 700
Count by hundreds to find the fotal.

Which number tells how many ® 550

pencils are in the boxes? © 500

®© 150

882 eight hundred eighty-two © Pearson Education, Inc. | Step Up | Lesson 8
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Took  Assessment

/ 0@

te the numbers shown. Use models and your

workmat if needed.

7
ent wr
ice

pend
Pract

Name
e
Inde

i

I

Ones

“Ones

| W L
IROMARAMANER
(EHIANNDE e
JIARE RN R
LA T
LML e
|0 TN W
|F M W KR T
AL
(MMMEREHOnO

]
(Enm EERENOERAR
\rnn BUEBHHoTan
\Hunsinmann
MusHgnanun

Tens

_Tens

IERDNONEROR

eight hundred eighty-five 885

»
wan' B0l gppnnuyEnn
nunmg:uunuunnnnn
Hae

T

|Hundreds

{Hundreds

@
PooOD

MORERMAHEA
a

CLLLLLLTS ]

Tens

| CEEREEEITT

|Hundreds

MM RANND
CELLEET T

ok T

_DOnes |

— N,

POD

Tens

eI TTITI ]

Tens

POPE

it L]}

Hundreds

o r— e

The digit in the fens place is between 2 and 4. The number of

ones is 2 less than 6.

{Hundreds

Hodacdtiioon

9. Higher Order Thinking Find the number. It has 4 hundreds.

Step Up | Lesson 9



Math Practi M@ and Pro _ 1 Solvin p Solve each problem cm_oéK

10. @ MP.7 Look for Patterns Complete the

chart. A number has a 6 in the hundreds
place. It has a 0 in the tens place.
It has a 4 in the ones place.

" Tens

Hundreds

What is the number?

. ® MP.7 Look for Patterns Complete the

chart. A number has a 4 in the hundreds
place. It has a 7 in the tens place.
It has a 0 in the ones place.

‘Hundreds Ones

‘Tens

What is the number?

886 eight hundred eighty-six

12. Higher Order Thinking Choose a 3-digit

number. Draw models to show the
hundreds, tens, and ones for your number.
Write the number below.

I i

L9 -

13.

© Peorson Education, Inc. |

® Assessment Max used these models to
show a number. Which number would be
shown if Max used | fewer hundred flat?

I

ASEANGRNEE

Flae-a-Leg-1-E1
oewnocsdiel
SOEREEEORE

EM LR s

L iyl 3-8-0r)
SRNRAnA NS
(P LEL UL
L T

Step Up | Lesson 9

— e = — =




ey’ 3zj payuossead Je sadnosay [enbig

FdN 'L'dN b dW
‘T'dW $82)4on4d |DIlDWIBY BN
VY LAN'S PIDpURIS Juajuo) @

ol i
nl |

‘aul Jaquinu p Buisn |

001 pup ‘0] ‘g Aq junod diys -
mneE :UO H P

& ol

000°| o_J '89S noA suieynd Aup aquosaq

‘001 pum ‘gl ‘g 'slequinu Buissiw om} auy 8 "0 10 Builpgs ‘sg

Aq junon diys

01 Uossa]

Z opp1 oy dn days |
e

|
_*
|




This number line shows skip This number line shows skip counting by 100s.
counting by 5s.

I see a
I see a pattern in pattern in the
the digits! i
ones digits! hundreds n_.m.+a_

| _ | | | | |
- _ _ _ _ ) - _ ! _
400 405 410 4dI5 420 o0 500 600 700

~ _ : i
| - ) *QGuided . Skip count on the number line.
? b el hechh i
Do You Understand? Practice Vrite the missing numbers.
Show Me! How could you ==
use the number line in the _ _ _ _ | :
first box above to skip count l. « ! _ ! _ >
by 10s starting at 400? = de 20 0% ﬁ g ﬁg 29
2 —4— —
100 200 ﬁ Qﬁ w 500 700 900
) _

888 eight hundred eighty-eight © Pearson Education, Inc. | Step Up | Lesson 10
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3 =
Math Practices Skip count on the number line.

and : eLL>
v-wv_m_: mo_s:m Write the missing numbers.

6. @ MP.7 Look for Patterns Jill completed
part of the number line. What numbers did
she leave out? Complete Jill's number line.

“«—t—
95 100 105

L

7. Higher Order Thinking What number is
used to skip count on this number line? How
do you know?

-----------------------
---------------------------
................
......
......
.....

8. ® Assessment In his last four basketball

games, Roy scored 10, 15, 20, and 25 points.

By what number do Roy’s points skip count?

! 5 10 25
® ® © ®

890 eight hundred ninety

-

© Pearson Education, Inc. |

25

| l | l Ly
_ ! | J _
30 35 HO 45 50
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